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FA AR LLIAT 706 780 890| 1,670
AL BB LLIET 1,060] 1,226] 1331| 2557
JLEEHT 2,320| 2,732| 3,005 5737
HEBCHT 40 39 55 94
A& B O HT 20 27 37 64
& <FHT 40 60 57 117
PE &0 5 <F T 36 42 42 84
FiENHT 546 610 655| 1,265
75 7 18 A BT 116 99 104 203
b8 A BT 22 30 36 66
ako0=1: 28 35 40 75
B aET 30 39 31 70
1 HT 46 59 75 134
A HT 61 79 78 157
ZEHT 46 41 59 100
HMEFRET 41 44 40 84
F T 48 73 77 150
= RHT 45 42 51 93
R ET 31 41 43 84
Eoikanlidl 36 34 48 82
SR T 67 70 91 161
Hea BT 38 52 56 108
S FHHET 49 46 61 107
N 191 227 251 478
= R BT 1,072| 1,178 1,348| 2,526
= H O 84 83 102 185
Fift = HT 12 12 12 24
it EHT 93 94 109 203
EHT 19 20 22 42
= EHT 46 54 58 112
H—TH 34 23 26 49
HWM=TH 26 36 33 69
HM=TH 87 97 112 209
HMmTH 34 39 42 81
HMATH 62 64 73 137
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HI<TH 75 75 86 161
A=HT 29 27 31 58
iF SR = BT 49 63 62 125
L X THET 48 48 47 95
BRI HT 122 90 109 199
HNET 840| 1,100 1,175 2275
B [E T 106 124 113 237
75 it BT 227 253 265 518
FAHT 234 332 352 684
K HETE 40 51 61 112
W & BT 122 153 161 314
NEFErHT 233 230 260 490
KEHT 114 115 151 266
39 AL BT 228 264 297 561
HiE H5 T 71 77 104 181
KIEET 18 21 23 44
% R T 9 10 13 23
e LLI BT 277 297 303 600
b, B T 68 69 78 147
7k B2 SFHT 150 171 195 366
i [ T 87 106 126 232
=k 518 512 615 1,127
Y, e T 222 219 251 470
LT 429 485 515/ 1,000
[/ Et) 11,548| 13,119 14,543 27,662
21 - ET 1,946)| 2294 2492 4786
7% T 78 103 100 203
FZHT 126 169 159 328
AR EHT 191 215 233 448
X 3BT 153 170 210 380
[/ Et) 2,494 2951| 3,194 6,145
% HHET 1,019] 1,240 1,255 2495
Yk T 791 999| 1,065| 2064
541 BT 103 137 155 292
FHT 1,213] 1531] 1646] 3177
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LI FH BT 232 284 285 569
% H 1L BT 1,203| 1,409| 1550 2,959
FHHET 613 710 762 1472
SR [ BT 865/ 1,008 1,142| 2,240
[/ Et) 6,039| 7,408 7.860| 15268
L =1EHr 61 93 98 191
T =488 963| 1,100 1.276| 2,376
gl 1,044| 1,220 1415] 2635
= HRET 268 358 381 739
KiTHET 35 57 60 117
= B Ey 22 26 23 49
F F EPHT 116 180 199 379
XiRERT 438 485 427 912
[/ &) 2947 3519] 3879 7398
12 H BT 192 260 275 535
A BT 46 66 79 145
=] 353 364 444 808
F ST 73 103 121 224
A 3k T 38 62 54 116
5L HT 217 312 323 635
Y A% T 36 58 71 129
FE L KHT 60 97 86 183
# AT 67 104 110 214
[/ Et) 1,082| 1426 1563] 2,989
K& <FHT 110 121 149 270
J\SEHT 137 203 232 435
Gi: 2N 124 151 173 324
5 ElFFET 751 852 835| 1,687
=T 186 209 263 472
iz 52 66 74 140
FaHT 111 146 149 295
R BT 372 467 458 925
55 F] T 412 489 497 986
X8 FH &R <F AT 23 26 40 66
8 H &R F AT 47 51 73 124
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6 FH &R AL BT 1,041 1,335 1423 2758
BR F0HT 67 77 90 167
[/ Et) 3,433| 4,193] 4/456] 8,649
/N SRHET 4567| 5295 5777[ 11,072
INFRET 1,040| 1,275 1,326/ 2,601
B i 560 691 721 1,412
AT 331 372 394 766
=2 T 54 78 75 153
/NER T 357 485 495 980
ith 2z PN ET 143 176 172 348
A Fh T 210 311 313 624
Jiti [58 =F HT 329 402 426 828
78 FH P ET 465 508 531 1,039
INRETER—TH 117 120 147 267
INRETER_TH 159 153 155 308
INRETER=TH 217 280 307 587
INKETEE—T B 27 28 26 54
INKBTFEZT B 51 66 70 136
INKBTEE=T B 80 89 84 173
[/ Et) 8,707| 10,329 11,019] 21,348
[ & ) 36,250| 42,945 46,514 89,459
AN P 3 445 411 427 838
(& Ef) 36,695| 43,356 46,941| 90,297




